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s | me BB, % i — x %
BIERNREGERE m B | W 1,905.000 | A
2 | 2 | & L m OB | R 1,747.521 | @A
3| 9 | mE oL m OB | W 1,618.000 | A
a | 7| =&z m OB | 1,602.478 | A
5 | 2 | useh AIX | BBEXE | B 1,475.000 | A
6 | 3 | Ak zmm LR 1,380.000 | A
7 | w0 | @k s m R | 1,364.000 | A
g8 | 1 | B0 LA m OB | R 1,362.000 | A
o | 15 | @ rov m R | 1,327.000 | A
0| s | vrxs | 2 W oE | R 1,262.000 | A
11| 16 | mOvIPE | m oA OB | W 1,257.000 | A
12 | w | W LHIY | BEREE | #® 1,203.000 | A
13| 6 | revzEE | ®m oW OB | B 1,200.000 | A
14 | 5| & oes | BEREE | = 1,155.000 | A
15 | 2 | =k #m# vEREE | B 1,136.000 | A
6 | 1 | @ ssor | uEEE® | = 1,105.000 | A
17 | & | EEE REOU m OB | W 1,052.000 | A
18 | v | s@ vTa BARER | B 1,038.000 | A
19 | 2 | #L 2% m OB | W 1,001.000 | A
20 | IHE SLes HEREEE | 986.000 | A
20 | v | =ZE U9 m OB | W 980.000 | A
2 | 2 | 2F o m OB | R 906.000 | A
23 | 4 | ER OO m | 594.000

= = @ % 28,655.999
HHOBWOBTREER 0.001
WTNOBERECEMERVELR 0.000
5 B B = X 28,656.000
= B ® B X 325.000
1% = o % 28,981.000
A 2 B B R D% 0.000
1% = & % 28,981.000
R B A 30612385409
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